MA1034 Theoretical Calculus IV Name 5?) /"7 oS

Quiz 4 Mei_(/ﬂh 23 / B Term, 2019
Fa
Show all work needed to reach your answers. Low 16
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. (10 points) Please find the unit vector w in the direction in which f(z,y) sin z increases

most rapidly at the point (0, —2).
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(10 points) For z%(1 + /y + 22 etV = = 7, please compute dz/0z_implicitly.
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3. (5 points) Suppose that F : R* — R is a differentiable function, and that F(z,y,t) = 0,,«
Moreover, suppose = = f(t) and y = g(t) where f and g are both differentable. Accordlng

to the chain rule, wh t is dF/dt'7
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